(R!ngltzj&gLAééﬂq;{}t;fgb

ZEEHEEE A (Acetyl-CoA) REMERFIZHPH
I E 10 B9 H

# R EXNERSLE 2-3 MNRHE R ARSI E

MEZX:

LB A )T ZAFE TN Y. IR SRR . YRR R I R e A ) — A 2
e T A P o FEAR N BERA AR o — MR AR R BT HE . e B = RE SR U L7
il A VR 2R L R RO AOBNE B - = SRIRIA IR A AL BRI AL, 203 3% 2% 30 R AR LA A PR — S AR R AT K
BIRREE M T ATP . BhAh, LBAHEE A 2 RIRIIIR, B A, R R AT A 4 5 A 2 P ) i F) i
L3V

MEFRE:

S SRR i S T AL S SRR A NAD A iR E LR A NADH.  Fr iR & I v (AL e A B 2 R 2R
AT IR ARG Ao 1 392 SRR T S B AT B IR 15 B ) TR B S N, B4 A 25 SR NADH F AR i 5 i
EEE, 340nm NG ETHER RN T LB A SRR SR,

mE SR
A K. BB, TS 1 mL IS GIL, HHE. DKAZR TR

R LE AR FNED ) -

RF—: Wik 10mLx1 i, 4°CIRAF.

WA Bxd 3, 20°CHRTE. IEFRTIIN 100uL %75 1 78 0 I i 4 Flls PRS2 AROAR AR 93 35 5 -20°C 1~ 17,
ARk T VR

B = WK 4plx1 32, 4°CERAE. IFIRTINN 100pL R T /AR T AR T2 (7140 3 5 -20 C 17
17, bR G R

WA Fr7ixt i, -20°CERA7. IR FHRTAIN OmL G FL AR M4 H A SE k5 4 35 J5 -20 C AR A7
ARk T VR

R Wik 10mLx1 i, 4°CIRTT
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1. BGOSR SN B B B 0, B0 EFE RIS R A S R (1004 3R
—fF (mL) 4 500~1000: 1 FyELA] (X 500 540 B A DI TmL 771 —D, 7 75 Ik A 4 ] Bt i
(UK, ThEE 20% B 200W, 7 3s, [AIRE 10s, EE 30 K); 8000g 4°CH.L» 10min, HL ik, EHiK EfF
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1. 6T 30min, FHZEM8/K T 340nm Abif 2,

2. B 920uL TAEVAT 100uL #AZE ImL AAFEELEM, Y821, SLEIESE 340nm 4k 20s IR G{E Al FlT 80s
I EIE A2, THHE AA=A2-Al.

ZEtEEE A SEITHE:
FruE gt RO BTN y = 1640x + 0.012; x ARG, y AARMEFRE (nmol/mL).
FEE: AW SRR 1.6nmol/mL.
(D %BEOREITH
LT A 2 (nmol/mg prot)=[(1640xAA+0.012) xV1]+(V1xCpr)=(1640xAA+0.012) +Cpr
TEFANNE, BVEHARAR BCA EA &R &.
(2 PR EITE
LB A & E(mmol/g £ H)=[(1640xAA+0.012) xV1]+(WxV1+V2)=(1640xAA+0.012) ~W
(3) MR TR B4 P B
LB A 2 B (nmol/10%)=[(1640xAA+0.012)xV1]+(500xV 1+V2)=(1640xAA+0.012)+500
V1: MARBAERPEEARER, 0.1mL; V2: JIANIRBGAEAFR, 1mL; Cpr: FEAREFIKE, mg/mL;
W: FEARE, g5 500 ZUMESignE S5, 500 J5.



